SGCTION o-2: POLYNOMIALS

BY the end of the lesson, You
wilLl be able to:

~ S’Lmﬂi—fg FOLU nomials



SCCTION 5-2: POLYNOMIALS

SCIENTISTS GaN USE aLGEBIAIC GXPIESSIONS TO SUMMAIZE THE POSSIBLE
OUTCOMES IN GENETIC BIEEDING, CEITAIN TralTs MeSULT FTOM THE PAITING OF TWO
GENES, ONE FTOM THE FEMALE PAIENT aD ONE FTOM THE MaLE PArenT.

FOI EXaMPLE, SUPPOSE @ TED-FLOWETING, SWEET PEa PLANT HAs GENOTYPE IT, @
WHITE-FLOWETING, SWEET PEd PLANT HaS GENOTYPE WW, aND @ PINK-FLOWETING,
SWEET PEd PLANT HAS GENOTYPE [W. €aCH LETTEN TEPTESENTS ONE OF THE TWO

GENES THAT MAKE UP THE GHAracTerIsTICs. ‘

Parent #1

SUPPOSE TWO PINK-FLOWEING PLANTS are Brep.
THE OFFSPTING GaN BE EXPIESSED USING aL6EBId
dND @ MODEL CALLED d@ PUNNETT SQUATE. H

Parent #2




SECTION 5-2: POLYNOMIALS

THE SUM OF THE POSSIBLE TESULTS FOI FOUI OFFSPTING GaN BE WITTTEN @S IT + TW + TW + Wi,
THE TESULT WOULD BE @ SUM OF FOUr MONOMIGLS, WHICH CaN BE WITTTEN ds

THE TEGSON TW + W CaN BE COMBINED as 2W IS BECAUSE THEY
are LIKE TEIMS,

W
Parent #1
THE BXPIeSSIONI + 2IW + W2 1S KNOWN as a /
POLYNOMIAL. | R
RW
R \_RR WW
F'armb\w RW




SECTION 5-2: POLYNOMIALS
SOME IMPOITANT DEFINITIONS

~ @ POLYNOMIAL IS @ MONOMIGL Or @ SUM OF MONOMIALS. (IT CANT Have TOOTS".)
OX: 2K + 3Y - 4xY

~ THE MONOMIGLS OF & POLYNOMIAL dre CaLLED THE TEIMS OF THE POLYNOMIAL.
Oz 2K + 3Y + 4(Y HdS 3 TEIMS: 2X, 3Y, aND 4XY 'Cr?” .\.gD

~ @ POLYNOMIGL WITH 3 TErMS (UNLIKE TErMS-CanNOT BE COMBINED) IS KNOWN
ds d TTINOMIAL.
€X: 62 + "W + 3ZWY 1S @ TIINOMIL

~ @ POLYNOMIGL WITH 2 TETMS (UNLIKE) IS @ BINOMIAL.
EX: X - 61Y IS @ BINOMIAL
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SOME IMPOITAGNT DEFINITIONS

DEBIEE OF @ MONOMIAL: THE SUM OF &L THE EXPONENTS OF
AL THE VariaBLes, -

Lx: Dytyd — Degree - v
DEGIEE OF @ POLYNOMIGL: 6QUALS THE DEGIEE OF THE
16l M WITH THE GIedTesST DEGI EE.

X BAxyt_4 3T
gV T XY ey
+ D:1

D-ch reR 1\
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POLYNOMIALS
EXAMPLES:
S1AT€ WHAT TYPEG OF POLYNOMIGL aND THE DEGIee
, % 2 Ture
g7y =21 Binomial
B Vx —3 NO"’ o Pﬂl\jl’ﬁ?ﬂid
0 x? Monomi el
'f'r‘mnmial

D x*—3x% + 2x
2 3 \

-

Degvex
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SIMPLIFYING POLYNOMIALS
WHEN SIMPLIFYING POLYNOMIALS. COMBING 8L LIKE TEIMS,

CXAMPLES: SIMPLIFY. 2=
| (4x* =3x) — (x*+2x —1)

=4xtB3x ~xt-2x 41/
R W — A ———

9 (2x* —3xy +5y°) — (4x* — 3xy — 2y°)

= 2x* 26*‘53 ‘Ix"&% y2q™

:i-—ZJ(L _‘_q_:i 7..)



SECTION 5-2: POLYNOMIALS

SIMPLIFYING POLYNOMIALS y-5)om o
B
FIND THE PETMETET OF THE QuabIitateral v+ 2) (2y + 4) cm
oAl e S
A (3y + 1) cm

P- (y-9) +(23+~‘4) F(3y+1) + (Yt12)
P = 3*3 -l'?:j +4 43yt +yt2

"P: :"a‘\'z Chn j
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MULTIPLYING POLYNOMIQLS
USE THE DISTTIBUTIVE PFOPEITY TO MULTIPLY POLYNOMIALS,

EXaMPLE 4: SIMPLIFY
m

3x (5x% — x? + 4x)

:, ID%>- 35t 4 12x* )
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MULTIPLYING POLYNOMIGLS
USE THE DISTTIBUTIVE PFOPEITY TO MULTIPLY POLYNOMIALS,

CAAMPLE O: SIMPLIFY

<>
9a* (3a — 7b*)

= ‘Q_q—a:_'g —-(o?) ﬂl'ba ;
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MULTIPLYING POLYNOMIQLS

WHEN MULTIPLYING 2 BINOMIALS, THE FOIL METHOD GaN BE USED.,

THE FOIL METHOD 15 dN dPPLICATION OF THE DISTTIBUTION PTOPEITY THaT MAREs
MULTIPLICGTION €asI€T.

The product of two binomials is the sum of the products of
the first terms,

the outer terms,

the inner terms, and

the last terms.

~=0m




SECTION 5-2: POLYNOMIALS Th prodit of hars Binamicls s e s of B prodecis of
F  the first terms,

MULTIPLYING POLYNOMIALS T he merterms, on
EXaMPLE 6: USE THE FOIL METHOD (FO DISTTIBUTION) TO FIND THE PIODUCT.

= }(?‘+ 1’2@?;( +

=IX* 420x% 476
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MULTIPLYING POLYNOMIGLS
EXBMPLE 7: FIND THE PrODUCT.

(n+3)EBn+1)

= |'2nl-l-4h + 4R +3

=ﬁ(2n’+13n+3]
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MULTIPLYING POLYNOMIGLS
GXAMPLE 8: FIND THE PIODUCT.

(x +3)2 *-(m Vﬂ

= ){,1“"731 £y 4+9
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MULTIPLYING POLYNOMIGLS
EXBMPLE 9: FIND THE PIODUCT.

—
x~H(x% = 2x* + x79)
- 2 4

MEVERIVA S ANV AR

E

ooy y x®

GEws
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MULTIPLYING POLYNOMIGLS
EXBMPLE 10: FIND THE PrODUCT.

(B3y2 = 2)(-2y + 1)

= —(o\j‘a-t- 331 t4y —2Z
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MULTIPLYING POLYNOMIGLS
CXGMPLE 11: FIND THE PI’DPUBT.

{w—ffJg:wr,s}
=P +3%- 32, -7

319
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HOMEWOI k..
[EVIEW FOI TEST 4

&
dSOIGNMENT 17

DUE al BEGINNING OF GLdss aFTel T65T




